2 ENTRANCE EXAMINATIONS — 2021

M.A. (5-Year Integrated) programmes in Social Sciences

(Anthropology, Economics, History, Political Science and Sociology)

1
Maximum marks : 100 Hall Ticket No. : { '
(Please read carefully)
Instructions:
L. Read these mstructions carefully before answering.
i Write Hall Ticket Number in the OMR Answer sheet given to vou. Also write the Hall Ticket

Number m the space provided above.

3. Answers are to be marked on the OMR Answer sheet following the instructions provided
there upon.
4 Handover the OMR Answer sheet at the end of the examination to the invigilator.
3. No additional sheets will be provided. Rough work can be done in the question paper itself
on the space provided for it at the end of the booklet.
6. The question paper has FOUR sections as shown below:
: T
: Section I Question | Title Marks
| ' Nos. |
| A Q1 -Q25 | Language and Comprehension 25
| B 1 0Q26-0Q50 | Reasoning Ability 25
L. B Q51 -0Q75 | Quantitative Aptitude 25
}__ D 1Q76-0Q100 | General Awareness and Social Studies 25
i Each correct answer carries ONE mark.
8. There is negative marking. Each wrong answer carries -0.33 marks.
9. Use of calculators is NOT permitted.

10.  This question paper contains _% 1 pages inclduing this page.
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SECTION - A

In 1499, Brazil was discovered by Vicente Yafiez Pingon, a native of Palos, and one of the
companions of Columbus. He and his brothers were in search of new countries, and after
touching at the Cape de Verd Islands, he steered to the south-west, till he came to the coast of
Brazil. near Cape St. Augustine, and coasted along as far as the river Maranham, and thence to
the mouth of the Oronoco. He carried home some valuable drugs, precious stones, and Brazil
wood; but had lost two of his three ships on the voyage. He made no settlement, but had claimed
the country for Spain.

Meantime Pedro Alvarez Cabral was appointed by Emanuel. King of Portugal, to the command
of a large fleet, destined to follow the course of Vasco de Gama in the east. Adverse winds,
however, drove the expedition so far to the westward, that it fell in with the coast of Brazil, and
the ships anchored in Porto Seguro on Good-Friday of the year 1500, On Easter-day the first
Christian altar was raised in the new continent under a large tree, and mass was performed, at
which the innocent natives assisted with pleased attention: the country was taken possession of
for the crown of Portugal by the name of the land of the Holy Cross. and a stone cross was
erected to commemorate the event. Cabral dispatched a small vessel to Lisbon to announce his
discovery, and then, without making any settlement, proceeded to India.

On the arrival of the news in Europe, the King of Portugal invited Amerigo Vespucci from
Seville. and sent him with three ships to explore the country. After a long and distressing
vovage they arrived, and very early in their intercourse with the natives they discovered that
they were cannibals, but nevertheless they established a friendly intercourse with some of the
tribes; and after coasting along South America as far as lat. 52°, finding neither port nor
inhabitants, and suffering from intolerable cold. they returned to Lisbon in 1502,

Early in the next year Amerigo sailed again with six ships: but having stood too near the coast
of Africa, after passing the Cape de Verds by the orders of the commander, four of the vessels
were lost, but Amerigo with the other two reached a port which they called All Saints. There
they remained five months, in friendship with the natives, with whom some of the party
_travelled forty leagues into the interior. They erected a small fort, and left twelve men with
guns and provisions, and having loaded their two ships with Brazil wood. monkeys. and
parrots, they returned to Lisbon early in 1504.

But as Brazil, as it now began to be called, did not promise that ample supply of gold which
the Spaniards had discovered in their new countries, and which the Portuguese gained with [ess
hazard from Africa, and from the East, the country ceased for a time to excite the attention of
government, and the first actual settlements were made by private adventurers, who, on account
of their trade, were desirous of having some kind of agents among the people. The first persons
employed for this purpose were criminals, a sort of settlers that may do well in an unpeopled
country, where there is nothing to do but to reclaim the land, but that must do ill where there
are many and savage natives, because they either become degraded to the savage level
themselves. if they continue friends. or, if not, they are apt to practise such cruelties and
injustice as disgust the natives, render colonisation difficult, and if they teach any thing, it is
all the worst part of the life of civilised nations.

But in 1508, Amerigo Vespucci having returned to the service of Spain, the King resolved to
take possession of the new land which had been discovered; and founding his claims on the
grant of Alexander V1., he sent Vincent Yafiez Pingon and Juan Diaz de Solis to assert them.
They made Cape St Augustine's, which Pingon had discovered, and coasted along to lat. 40°
south, erecting crosses as they went; but some disputes having arisen between them. they
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returned to Spain: and it appears that the remonstrances of Portugal against the voyage, as an
interference with her discoveries, had some weight. for it was not until 1515 that Solis was
dispatched on a second voyage, and then it was with the avowed purpose of seeking a passage
to the Great Pacific Sea, which had been sought and seen by Balboa in 1513,

That extraordinary but unfortunate man was the first European whose eves rested on the broad
Pacific. He had heard from the Indians of its existence, and resolutely set out to discover it.
well aware of the dangers and difficulties he had to encounter. After twenty-five days of
suffering and fatigue, he saw the South Sea: he heard of Peru, its mines, and its llamas; its citics
and its aqueducts, and he received pearls from the islands that lay in front of St. Miguel's bay,
where he walked sword in hand up to his middle into the water and took possession for the
King of Spain. No one in Europe now doubted that the western way to the East Indies was
discovered.

Great hopes were therefore entertained from the expedition of Solis, That able navigator made
the coast of Brazil far to the southward of Cape St. Augustine, where he had been with Pingon;
and on the Ist of January 1516 he discovered the harbour of Rio de Janeiro; thence he sailed
still to the southward, and entered what he hoped at first would be a sea, or strait, by which he
might communicate with the ocean; but it was the river La Plata, where Solis and several of
his followers were murdered and devoured by the natives. The ships then put back to St,
Augustines, loaded with Brazil wood, and returned to Spain. But the King Don Emanuel
claimed these cargoes, and again remonstrated against the interference of Spain so effectually.
that three years afterwards, when Magalhaens touched at Rio de Janeiro, he purchased nothing
but provisions. Meantime several French adventurers had come to Brazil, and had taken in their
cargoes of Brazil wood, monkies and parrots, and sometimes plundered some of the weaker
Portuguese traders. In 1616, two of these adventurers entered the bay of All Saints, and had
begun to trade with the Indians. when the Portuguese commander, Cristovam Jaques, sailing
into the port, and examining all its coves, discovered them, and sunk the ships, crews, and
cargocs. About the same time, a young Portuguese nobleman, who had been wrecked on the
shoal off the entrance of the harbour, and who had seen half his companions drowned, and half
caten by the Indians, had contrived to conciliate the natives. He had saved a musket and some
powder from the wreck, and having taken an opportunity of shooting a bird in the presence of
the inhabitants, they called him Caramuru. or the man of fi re: and. as he accompanied them on
an expedition against their enemies the Tapuyas. he became a favourite, married at least one
Indian wife, and fixcd his residence at the spot now called Villa Velha, near an excellent spring,
and not far from the entrance to the bay.

Caramuru, however, felt some natural longing to see his native land, and accordingly seized
the opportunity afforded by the arrival of a French vessel, and taking his favourite wife, he
went with her to France, where they were well received by the court, the king and gueen
standing sponsors at the baptism of the Brazilian lady, whose marriage was now celebrated
according to the Christian form. Caramuru, however, was not permitted to go to Portugal: but
by means of a young Portuguese student at Paris. he communicated his situation to the King
Joam IIL., and pressed him to send an expedition to the bay of All Saints.

Shortly afterwards, Caramuru returned to Bahia, having agreed to freight two ships with Brazil
wood as the price of his passage, of the artillery of the ships, and of the articles necessary for
trading with the natives. Still, however, as Brazil furnished neither gold, nor that rich commerce
which the Portuguese derived from their Indian trade, it was pretty much left to itself for the
first thirty years after its discovery; and then the regulations adopted by the court were not,
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perhaps, the most advantagcous for the country. The coast was divided by Joam IlI into
captaincies, many of which extended fifty leagues, and each captaincy was made hereditary,
and granted to any one who was willing to embark with sufficient means in the adventure; and
to these captains an unlimited jurisdiction, both criminal and civil, was granted.

Source : Jowrnal of a Vovage to Brazil by Lady Maria Callcott (Introduction) pp. 2-8.

1. Which among the following explorers has not been discussed in the passage?

. Amerigo Vespuci

. Juan Ponce de Leon

. Vincente Pincon

. Pedro Alvarez Cabral

0N ® =
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What did Vincente Pincon not carry back to Spain from his journey to Brazil?

. Brazil wood

. Sandal wood

. Precious stones
. Valuable drugs

R R vs -2
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. On good Friday in the vear 1500 Pedro Cabral reached the coast of:

.India

. United States of America
. Brazil -

. Africa

Cn®eE

The river Maranham is in which continent:

. Atrica

. Asia

. South America
. Europe

o0 @ =
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. Amerigo Vespucci reached the port of All Saints with how many ships:

. Four
Six

. Two
. Five

oO®»

How long did Amerigo Vespucci remain in Brazil till he returned to Lisbon in 1504?

. One year

. Two months
. Six weeks
.D. Five months

OB e o
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In 1500, Pedro Alvarez anchored his ship in:

. Porto Seguro
. Cochin

Com Feanpion
« WXL R 1u11u|.3\.«0

. All saints

In the passage given, is there any mention of guns?

. Yes

No

. Not clear
. In a roundabout way

King Joam Il divided the coast into:

. Leagues

. Captaincies
. Towns

. Provinces

How did Caramuru communicate with the King of Portugal initially?

. Returned directly to Portugal

. By means of a young Portuguese student at Paris
. By means of his Brazilian wife

. Sending Indians as messengers

. What did the Portuguese do with their criminals in Brazil?

. Made them as settlers

. Made them warriors

. Employed them as sailors
. Imprisoned them in Brazil

Why did Brazil cease for a time to excite the attention of colonial government?

. It did not promise that ample supply of labourers,
.1t did not promise that ample supply of gold.

. It met with stiff resistance from the natives.

. Due to lack of agents among the people.

Brazil?

. Criminals

. Agriculturalists
. Artisans

. Clerks

. Who were the first persons to be employed by the private adventurers like traders in



14, When did the king of Spain resolve to take possession of Brazil?
A, 1608
B. 1508
C. 1500
D.1499
15. Who among the following were sent by the King of Spain to assert Brazil soon after
deciding to possess it?
A. Vincent Yafiez Pingcon and Juan Diaz
B. Vincent Yafiez Pingon and Amerigo Vespucci
C. Balboa
D. Caramuru
16. What does “remonstrance” mean?
A. An earnest presentation of reasons for opposition
" B. Protest without any clear reasons
C. Agreement
D. Solidarity
17. Which among the following was discovered by Pincon:
A. Cape de Verdes
B. Porto Seguro
C. Cape St. Augustine
D. Rio de Janeiro
18. Juan Diaz de Solis received pearl from:
A, St. Miguel's bay
B. Peru
C. La Plata
D. Porto Seguro
19. The harbour of Rio de Janeiro was discovered by:
A, Caramuru
B. Amerigo Vespucci
C. Juan Diaz de Solis
D. Cristovam Jaques
20. Solis and his followers were murdered and devoured in:
A. Cape St. Augustine
B. LaPlata
C. Rio de Janeiro
D. Peru
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. Which among the following actions Solis do perform while taking possession of Peru

on behalf of Spain?

. Erected crosses

. Mass was performed, at which the innocent natives assisted with pleased attention
. Walked with sword in hand up to his middle into the water

. Made friendship with the natives

Who discovered the trading between Indians and French adventurers and ruined it?

. Cristovam Jaques
. Tapuyas

. Magalhaens

. Amerigo Vespucci

For the Indians, Caramuru means;

. Man of wood
. Noble man

. Cannibalistic
. Man of fire

What made Caramuru to be one of the favourites among the Indians?

. He accompanicd them on an expedition against their enemies the Tapuyas.
. He was handsome

. He performed mass

. He belonged to a roval family

5. What were the imperatives for the king of Portugal to leave Brazil to itself for the

thirty years after its discovery?

. Failed to produce gold

. Failed to produce rich commerce

. Court regulations were not advantageous for the country
. All of the above



SECTION - B

6. In a certain coding system ‘IRANIAN’ is written as 9 18 1 14 9 1 |4. In the same
coding system “TRAQI” would be written as

57251620
19251891
9181179
9185119

wRel

27 1f ‘COMPUTERS ARE GREAT® is written as ‘TAERG ERA SRETUPMOC, then
how does one write ‘MONGOLIA AND XINJIANG ARE NOT IN ZOMIA®

A. AIMOZ NI TON ERA GNIAINIX DNA AILOGNOM
B. AIMOZ NI TON EAR GNALINIX DNA AIOLGNOM
C. AIMOZ NI TON ERA GNAIINIX DAN AILOGNOM
D. AIMOZ Ni TON ERA GNAIJNIX DNA AILOGNOM

78. Sohaib walks 40 miles in the direction of west then he tu.ns to his right and walks
further 9 miles, how many miles is he exactly from the starting poiit

40
40.5
41
42

SOwp

20 Look at the series 201,182,165,150. Then the next number will be

A, 137
B. 139
C. 134
D. 129

30. In a party of 98 people, there are twice as many women as children and twice as many
children as men. How many men were present?

28
16
15
14

31. No woman is a robot. Banita is a woman.

These are the following conclusions:
1. Banita is not a robot.
I1. All women are not banita.

Only conelusion I follows
Only conclusion 11 follows
Neither I nor I follows
Both T and 11 follow

oW
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38.

4

0.

2 =D

. From the given alternatives, find the word which can be formed from the letters used

in the given word: MANUFACTURE

FAMOUS

MANNER
MATTER

FACE

G, Hy LM, 2.V

Q
T
0]
R

Pointing towards a man, a woman said, "his mother is the only daughter of my
mother." How is the woman related to the man?

Mother
Grandmother
Sister
Daughter

. Choose the odd man out.

Titan
Saturn
Mercury
Mars

Find the odd number / letters / word from the given alternative;

Stale: fresh
Truth: lie
Swift; fast
Teach: lcarn

. If a denotes +, b denotes *, ¢ denotes / and d denotes -, then 18 b12ad4¢5d6="7

A.33
43
210.8

63

Abdul is elder than Ramesh. Usha is elder than Ramesh but younger than Abdul.

Prakash is younger than both Mary and Ramesh, Ramesh is elder than Mary. Who is the
youngest?

CTOowe

Abdul
Usha
Prakash
Mary
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. Lunch is to eat as beverage is to ------ 5

Consume
Drink
Drown
Glass

Which word has a meaning that extends to or includes the meaning of all the others?

Flower
Daisy
Rose
Jasmine

. The sentence below has a word missing. Which one word makes the best sense of the

sentence? The scientist was normally very shy. but if you asked about his work, he
would become quite =-------- as he explained his experiments enthusiastically.

Reserved
Boring
Sincere
Rude

2. Look at this series: 36, 34,30,28.24, .., what number should come next?

[0 50 T B I N0
e O D2

=

. Ranjan will completc a task in I35 days. But Meera can complete it in 10 days. If both

of them work together the work can be tinished within how many days?

[ea]

Lh O —

. If Ravi goes to his office by bike at a speed of 30 kilometers per hour, he will be late

by 20 minutes. But if he drives a car at 60 kilometers per hour, he can reach otfice 20
minutes early. If so, what is the distance that he is travelling to reach his office?

335 kilometers
30 kilometers
30 kilometers
40 kilometers

10
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45. 1f all the digits of the number 47623951, are arranged in ascending order from left to
right, then 2 is added to each of the first four digits of the number and 2 is subtracted
from each of the last four digits of the number. Then how many digits are repeating in
the number thus formed?

Two
One
None
Three

0wy

46. Find the odd one out

A. Hypothesis
B. Assumption
C. Observation
D. Experiment

47. One evening before sunset Radha and Heera were talking to each other face to face. If
Heera's shadow was exactly to the right of Heera, which direction was Radha facing?

A. North

B. South

C. East

D, Inadequate data

48 A,ILP. V., A E, ?

ook
T o

49, In a particular coding system, ‘let’ is coded as 38, ‘me’ is coded as 20, *go’ is coded as
25, then what will be the code for ‘please’.

oo,
wn D oo o

TOwe
n LA

50, If the relation between the two words is like this
Forecast : future :
Then which word will correctly capture the relation with regret : ?

A. Present
B. Early

C. Past

D. Historical

13



- -5

SECTION -C

51. Omprakash and Jaiprakash are ranked 13" and 14" respectively in a class of 23.
Their ranks from the last are and respectively.

A.11Mand 10®
B. 10" and 11™
C.11™and 12t
D.14M and 15"

52. The letters are linked in some way in the following question. Fill the box by
identifying the relation.

BBC: D CehsE AAB:
F
G
H
b B

SEel- e

Lh
[FS]

1fVE=2236 and ¥3 = 1.732, find the value ofﬁ

A.3.978
B. 1/3.978
C.1.984
D.0.504

54. Two coins are tossed 90 times and the data recorded is given as the following:

Number [0 [1 |2
| of heads

‘_jn a trial |

' Frequency | 10 |25 |55

What is the probability of getting at least one head?

8/9
1/7
5/18
11/18

oOowy

12
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. A bag contains 2 red, 3 green and 2 blue balls. Two balls are drawn at random
(without replacement). What is the probability that none of the balls drawn is
blue?

10
21

A.

11
B, ==
21

0
~1 |

5
B, =
7

56. In a class, there are 15 boys and 10 girls. Three students are selected at random.

The probability that 1 girl and 2 boys are selected, is:
21
46

25
B. =
117

. From a pack of 52 cards, two cards are drawn together at random. What is the
probability of both the cards being kings?

Lh
-1

1

15

13

=2-93
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If A iscodedas C.,Masl,NasP,SasQ,lasA PasN,Eas M, O as E and C as
S, then the code of COMPANIES will be:

SPEINMOAC
NCPSEIOMA
SMOPIEACN
SEINCPAMO

. The angle between the minute hand and the hour hand of a clock when the time is

8.30, is:

75°
85°
80°
70°

. If price of petrol has increased from % 50 per litre to % 90 per litre. The monthly

consumption of petrol of an average customer has fallen from 50 litres to 40 litres.
Which of the following is the price elasticity of demand?

0.3

0.25
0.15
0.75

_If the three numbers in the ratio 3:2:5 be such that the sum of their squares is

equal to 1862, then which is the middle one?

Ll b o— D
P o+ QLY R =

. John, Jecna and Junaid enter into a bus. If 6 seats are vacant, then the number of

ways they can occupy the seats is:

30
60
120

. 360

3. The average age of Anita and Anil was 23 years when they were married 5 years

ago. The dverage age of Anita, Anil and Anmol (their child born during the
interval) is 20 years now. How old is the child now? ‘

. 1 year

. 2 years
. 3 vyears
. 4 years

14
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The typist A can type a letter in 5 minutes, typist B can type a letter in 10 minutes
and typist C can type a letter in 15 minutes. What is the average number of letters
per hour per typist?

10
733
22
100

5 Which one is the correct solution values for y in the quadratic equation y2+ 3y =

107

3and 10
5and -2
2 and 13
2 and -3

1P P is a matrix of order 2x3 and Q is a matrix of order 3x3, then

P() is defined but QP is not defined for multiplication
PQ is not defined but QP is defined for multiplication
Both PQ and QP are defined for m ultiplication

We can calculate the determinant value of QP

If P is a set of three elements such as P= {3, 5, 8}, then the number of all sub-

sets will be:

Three only
Six only

Seven only
Eight only

_If we take In (natural logarithm) on both sides of the equation Z = AX?Y>, then we

get

mZ=A+3InX+5hY
InZ=A+In (XY
mMZ=mMmA+3InX+5hY
mZ=A+3logX+5logY

Suppose GDP at market price of India in 2010 - 11 was X 75.000 crores and net
factor

income from abroad was % (-) 250 crores. Calculate GNP at market prices:

A
B.
&
D

. 75,250

74,750
76.250
74,250

15
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70. A cyclist covers his first 5 Kilometre (km) at an average speed of 10 km per hour,
another 3 km at 8 km per hour and last 2 km at 5 km per hour, Find the average
speed of the entire journey.

A. 7.84 km/hour
B. 8.24 kim/hour
C. 10 km/hour
D. 8 kim/hour

71. China exported $79 billion worth goods to India, India could only export $ 10
billion worth goods to China in return during a financial year. India had to use $ 60
billion from its foreign investment inflows to pay for the imports. India’s trade
balance with China is:

A. Zero trade deficit

B. Deficit of § 129 billion
C. Deficit of § 69 billion
D. Surplus of § 139 billion

72. The following table shows the maximum quantities of trucks and cars that
England and India can produce if they produce just one good.

L Trucks Cars
| England 80,000 ) 40000 |
india 120,000 30,000

Which of the following is true?

A. England should import trucks

B. India should import cars

C. England has comparative advantage in trucks
D. India has comparative advantage in trucks

73. The Marginal Propensity to Consume (MPC) in a country A is 0.6. The Keynesian
Investment Multiplier is;

74. Country X has an aggregate consumption of 80 billion, investment of ¥ 30 billion,
government expenditure of X 25 billion, exports worth ¥ 30 billion and imports worth
Z 60 billion. The national income of country X is:

A. %225 billion
B. 2200 billion
C. 2 105 billion
D. T 135 billion

16
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75. Assuming that consumers are indifferent between coffee and tea consumption, a
drop of 15% price in coffee has led to a drop in tea demand by 10%. The cross
elasticity of demand of Coffee and Tea are:

A. 1.5
B. 0.66
C.0.75
D. 1.75
SECTION-D

Joe Biden took office as the t President of the United States Of America

L
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A

h ot
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In the national emblem of India which of the animals are present

A. Lion.elephant,horse

B. Lion, elephant, bull

C. Elephant,bull.horse

D. Lionhorse,bull

India comprises of . states and __union territories
A, 22 states and 7 union territories

B. 27 states and 9 union territories

C. 28 states and 8 union territories

D. 29 states and 7 union territories

Which of the following sportswomen and the sports are wrongly matched?

Dipa Karmakar : Gymnastics
Saina Nehwal: Tennis
Mirabai Chanu : Weightlifting
Vinesh Phogat : Wrestling

SOw>

The Tropic of Cancer does not pass through which of the following states

Mizoram
Manipur
Tripura
Rajasthan

17
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81. Rare earth elements are crucial for which of the following?

OO wp
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34.

85,

86.
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. The popular name of the disease mucormycosis is

o Qe

Greenhouse agriculture

Body supplements to treat trace element deficiency
Hi-tech devices

High end fashion and leather goods

Black fungus
Wuhan virus
Coronavirus

. Sars virus
3. Which one of the medical system is a part of "AYUSH’

. Allopathy

Acupuncture

. Traditional tribal medicine
. Sowa-Rigpa :

Which of the following is indigenous to India and did not come as a part of the
Columbian exchange

Potato
Tomato

. Tobacco

. Pepper
The Red Fort in Delhi was built by :

Shah Jahan
Akbar
Jahangir
Babur

Which of the following is a pure development bank in India?

Industrial Development Bank of India

Industrial Credit and Investment Corporation of India
State Bank of India

National Bank For Agriculture and Rural Development

18



87. According to the world health organization the sars-cov-2 virus that spread from china
to various regions of the world now has different varieties. Identify the following
variants with the countries of their origin and choose the right answer from the
columns below.

i Alpha a. Brazil

i, Beta b. India

il Gama B UK

iv. Delta d. South Africa

A. i-b, ii-c, lii-d, iv-a
B. i-d, ii-a, iii-b, iv-¢c
C. i-d, ii-c. iii-b. iv-a
D. i-c, li-d. iii-a, iv-b

88. The Uighurs and the Rohingyas who were recently in the news as victims of
oppression belong to which countries respectively

Turkey. China
China, Myanmar
Xinjiang.Myanmar
China. Turkmenistan

SOE»

89. The sporting legend Milkha Singh who died recently was known as :

Speeding Sardarji
Bullet Train
Flying Sikh
Fastest Indian

O

._*
=

90. Which is the capital of Israel

A. Tel Aviv

B. Jerusalem

(. Haifa

D). None of the above

91. The largest producer of semiconductor chips in the world is
A. Taiwan
. South Korea

A
B
G LSA
D. Japan

19



972. Match the following athletes with their sports 2""5

a. Dutee Chand i. Archery

b. Anju Bobby George ii. Sprint

¢. Dipa Karmakar iit Long jump
d. Deepika Kumari iv Gymnastics
A. a-iv,b-iii,c-i,d-ii

B. a-iv,b-ii, c-i,d-iii

C. a-ii,b-iii,c-iv,d-1

D. a-iii,b-iii,c-iv,d-i

93. Who among the following are listed as frontline workers to fight against covid-19
pandemic in India?

A. Air hostess

B. Vegetable vendors

C. Nurses

D. Retired defence personnel

94. The smart city mission, launched to drive urban transformation and economic growth
in India covers:

A. 10 cities
B. 15 cities
C. 20 cities i
D. 100 cities

95. Which of the grains is an odd man out :

* A, Rice
B. Quinova
C. Bajra
D. Jowar

96. The Adivasi rebellion against the British known as Ulgulan was organised by

A. Sidhu and Kanhu

B. Birsa Munda

C. Alluri Sitarama Raju
D. Tana Bhagat
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97. Which of the following is correctly matched

a. M.K.Gandhi i. Indian National Army
b. Dr. B.R. Ambedkar ii Salt Satyagraha

¢. Periyar iii Vaikom Satyagraha
d. Subash Chandra Bose iv Mahad Satyagraha

a-ii,b-iii,c-iv.d-i
a-ii.b-iv, c-iii , d-i
a-iii,b-iv,c- ii, d-i
a-iil.b-iv.c-ii, d-i

OO >

08. When the value of the Indian rupee gets depreciated in relation to the U.S. Dollar, it
leads to a situation that usually makes Indian

A. Imports cheaper and exports costlier

B. Exports cheaper and imports costlier

C. Both exports and imports costlier as we have to pay higher prices
D. There is no effect on exports and imports

99. When the government prints too much money then the effect on prices will be

A. No effect

B. Pricerise

C. Price decrease

D. No direct co-relation

100. The animal called Mithun is found in which part of India?

. Jammu,Kashmir, Ladakh and Western Himalayas
Arunachal Pradesh and Nagaland

Andaman and Nicobar islands

. Lakshadweep

(ol e Rve iy
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